Mathematics 221, Lecture 2 Name:
Instructor: L. Maxim TA’s Name:

EXAMII SO\ U\‘HO‘(\S

Do all five of the following problems. Show all your work, justify your answers:
- answers without supporting work will not receive full credit. It is not necessary
to simplify your answers.

[No. | Points | [ Score |
.1 20
2 20
3 20
4 .20
5 20
100 | TOTAL POINTS




Problem I (20 points)
Determine where the curve

y=z+sinz, 0<z<2xr

is increasing, decreasing, concave up and concave down. Where are its local extrema and
inflection points? Use this information to sketch the curve.
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| Problem 1T (20 points) Evaluate the following limits:
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Problem III (20 points)
An isosceles triangle has its vertex at the origin and its base parallel to the z-axis, w1th the
vertices above the axis on the curve y = 27— z2. Find the largest area the triangle can have.
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Problem IV (20 points) Evaluate:
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Problem V (20 points)
v Find the area of the “triangular” region bounded on the left by z + v = 2, on the right by
y = 22, and above by y = 2.
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